=
~

3

Pri

obbliga

ia,

te

mpc¢

) 11

)

'u-Mr %4

fy

v 4 a4

& %/t;
Q\
_—
1"

fl{ie\

rel-

W)= |

x|

Fm-&a

"(IR)

h— ——

-

u{)(l]f: g

=3

7

r(n)

*

1)
»~

iy

GE:

)

! ‘F(’

) dx

et

;*§

E

—

, el (

IR

&S

y L

- o
°

C (;;’(:;) 6




Soluzioni Prima

Parte

P

Portr

\)

X

(e}

1[G

=
AN

~ g
~
X
~

N IN

3
q

r\_}\>

> 2 g
rm =i n

1
r\-}\s
Q

e

D

r

(x

E

fx)

) Vs

. _Fl(v) )/

(x).

F1(n) iz A‘Jl- da :

Nls
L
My
R

) Cori ()

+
S —
3

ot (

4)

AV}

1y~

%)

dy

-
b=

W

'ﬂ M (h n) AK

:?lA

y (vnll] A&t

=~

~ D

~ |3

)l

N

=

&

=

TS
=N
]
-
’—ﬁ

TN

S|~

3

—TT

= BN

f—\

S

0

4
1
o—=
T
LT\

n

SV

hn))

N
’_
0

qlA

e B

\V\

H

1.
. wacm)J =

r) < Ccor
\ T

an)

1)

4
l -~

- n*

3

=

e (n'n,) = —:‘-

SV~

/-l\

I

1)

:}—A

S'l-\q

q
q
x
\—/

N

¥
-
X
~—

"\

:?—\

~_Ll—




LEN™ 1 e fug| o[G0

A ~ 2\
FOVAGEY =lavg el 7

()«) = ———2—'~ . ;r(7“%-

>
q

!

i
3
5

!\I

Ay .
bi Cb\ gwt-_www n'_.._/ o andx) = g; *l e v(x £ €
, ) P
w = e ORI
\\ )“Z N
(wle v (A= [ &MV 2 | e e £ AN
N A%} \Y| T 1{)1 “Ul N v
“.(L\ =] (:"""v)("‘)
pacAer 1 A
m&bv C'Lb 'L(\'\: ) . d g1 rl’mi niEQ oy
Cannns [y, 4 té,ko- NS Np- ,ml['l'/L:

Y= p 4 I rao *
¢
j. M,at,._v\. - N U'M‘/th-\t L - {
: - ) w29~ -
o0
\ -
o] {6 ([, (R) | e [goelde [T 2Ty | 5| n dihit
Vang ¢ ,QQAM‘I,‘—"AAT;*H-IRin'A%. i fraht.
Q’dﬂlﬁ' /5'1. ‘ M| an L A ALl \Cad., ﬁw
K‘.A Ar Ac‘lk ;l\hrhﬂ_wiﬂ.'& f L AAa, 0L
V20w bty T pphrins| L0420 La Bolfy |T

';/r\‘ierMff b Cotne e((lk\ﬁ.wl—vf;«- > o| Con

<\




7 < —
(e : < d.,/ b'”éq)(l&,_’_ﬁw [« b]l L e A<O<L)g
pau! X -} a
({)-.: - r(((') = .__\ ':T_"‘_ (F‘(n) v |= - gu__.__;-i. Q?'M A | -
vileo o
snchd o—p0 YA v -
L Y onch. %
- ) o] - . V| goaldv | ( 1) gl |
C o o ] C 0
. (Il\l.'
/ ol ! -1—:‘—‘---1—010‘»\1 = (1eped) onchm _ -4,-(4-:;,7-) w- 20 -
\‘ n , - n? wY (1+4x}) X"(‘lﬂt)
WL L 'AIWM‘I»\L
A [ lonchew ) wlk o

ALY

0, (x\
0

[
[ (I35 (W
\

/—)
—
g
alla
=
f——"

tr‘) z (-{{0) +4 \ - -——-;1 C((h\ dw + C((o) +

"
[ ]
QD»’\
—~
S
-+
LY
bR
—~
=
-Q

(W) dw

3




